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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50131411594 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The mean of the first n natural numbers with weights as corresponding
numbers 15
2506)0N D00 HOWEEVTT GOT R0CES n T2 o HifeN

Options :

1 % (n+1)/2

, % (20t1)/6

2n+1)/3
3 v (2n+1)/3

4% n/2

Question Number : 2 Question Id : 50131411595 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let us suppose that five different equidistance places in a journey travelled

by a person 1n car with speeds 50. 40. 60. 40. kmph from Ato Bto C to D

to E. If the distance travelled is 50 km then the average speed is

28 TS |DOSTEIOT 958 NS GPS Swen He DD DBFS0e, A
0@ B od € o0& D HOA E HEE 50, 40 60, 40, kmph JK0S
DAFAeDS EPE0 50 8 e9on® Aifen S0

Options :
1 % 50.00

, % 47.50

h
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-2
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4 v 52.63

Question Number : 3 Question Id : 50131411596 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
From a sample of 10 observations. the arithmetic mean and variance are
calculated. The total 1s 560. It 1s then found that one of the values. 50. 1s in
error and should be replaced by 40. Then the adjustment to the variance to
correct this error 1s
HO (HBEFD OSSO 0B, OEKEIS DTN O DY O
HE30DN, HBIOSOTNB0 560. NeNIOS 25T 50 A0 S S0H
00 TAQ 408 30 TATFO EOFIDA0D. @) & Sard)
HOVOHTNVE Ddgesd Heren

Options:

1.‘&? '35

[ ]
N

4, %

Question Number : 4 Question Id : 50131411597 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Milk 1s sold at the rates of 8, 10, 12 and 15 rupees per litre in four different
months. Assuming that equal amounts are spent on milk by a family m four
months, find the average price in rupees per month.

Tenth T 55506 OLkh% 8. 10, 12, 15 EFaroHe TS ToOd
DOV . 7D TOS 2,8 LIEN0D0 27O FH0 DT DT
D) TROGD 2NN . TOK Hifen B8 &,

Options :

o I

A

1. %



5 x 1125

4 o 10.67

Question Number : 5 Question Id : 50131411598 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The geometric mean of 10 observations on a certain variable was calculated
as 16.2. It was later discovered that one of the observations was wrongly
recorded as 12.9: in fact it was 21.9. The correct geometric mean is

28 Q03 BT D 10 HVFOSO 2FNAOH DD 162 ™ B8Lo-
2000, HOIOIOS 2,563 ST 129 ™ ST DTOHDEOHR
5DaPes EOFNB06; AP e 21.9. DB 2PzNAD e

Options :
1% 16.20

, % 12,90

L » 21.90

4w 17.08

Question Number : 6 Question Id : 50131411599 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The first four moments of the distribution about the value 4 of the variable
are -1.5, 17, -30 and 108 respectively. Then the variance of the distribution
15

2.8 Qerad otrd GBwg)y el rend 4 eSS o) redsen
DA -1.5, 17, -30 OO 108. 959 )0 DT AEY Ages

Options:



Question Number : 7 Question Id : 50131411600 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the wrong relation:

o) DODOG0 ) Mol Hdohod
1. B2=1

. B2z B

. P2-Pi1=1

4. p3—3=0

. B1. (B2+3) / 2(5B2- 6B1-9) > 0

I

L]

h

Options :

. o 12345

Question Number : 8 Question Id : 50131411601 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Two computers A and B are to be marketed. A salesman who 1s assigned
the job of finding customers for them has 60% and 40% chances
respectively of succeeding in case of computer A and B. The two computers
can be sold independently. Given that he was able to sell at least one
computer. what 1s the probability that computer A has been sold?

A SHOAN B @F B0 $0a300: 108 TaNSON God. 8 §d0
ERNeNDON ENFR DD SEFON0DN O Y058 0537380 A SHOOS
B AGNOS SR 60% SO0 40% STFEN GP)0N. B0
E0ssbocd  DiBoSorT  DZN0NSTN). @é N0 2.8
50ag” 53000 DIB0NOIHORN0N, 507500 A @20B0 02T
2)Oeh?

Options :

1. % 0.65

, 05

Question Number : 9 Question Id : 50131411602 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



In answering a question on a multiple-choice test. an examinee either
knows the answer or he guesses. knowing probability is p. assume that the
probability of answering a question correctly is unity for an examinee who
knows the answer and 1/n for the examinee who guesses. where n 1s the
number of multiple-choice alternatives. Suppose an examinee answers a
question correctly. what is the probability that he really knows the answer.

DT0H-J0DE N0ES DB DTN T IO, 28 HOELAS
DIPTPI0 BEN) BT @95 EFar0T. (D)5 DITPTH0 SeVD
D02TI6 p DTNV, (94) 50 DO DIFrErdo T dozradses 2,53
RO NTN0 BOVN HOLHAE ED)Beh 0 HOOW 1/h @A n
DIVE-D0NE (DS 0TO doDdE. 28 HOZHG 28 (HH K SO
QDIPTPROANTT)ED  @DZ0TP0, @38 NBOMT AP0 SO
D02TIes NES.

Options :

1 = Op/ (nq+p)

, v p/@p+a)

3 % nq/ (p+nq)

4 % 0g/ (nptq)

Question Number : 10 Question Id : 50131411603 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The density function of a random variable X 1s
2,8 Oy )E TP X G30E) froIe D000

fix)=ax if 0 < x <1;
=a if l<x<2;
=3a-ax if2<x<3;
=0 otherwise.
ThenP[X=15]=_

Options :
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Question Number : 11 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411604 Question Type : MCQ Option Shuffling : Yes

Let X be a continuous random variable satisfing the density function
X @909 2,8 @) OS50 8 5OTE G30E) AP0(I€8 [ 0N

flxy=k(1+x) where 2 < x < 5.

Then P(X<4)=

Options :

Question Number : 12 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411605 Question Type : MCQ Option Shuffling : Yes



The density function of a random variable X 1s
OISR )E eTrd X A3 Aroldied (Danaesw

fixy=x 1f0<x<I1:

=2x 4f1 <x<2and

=0 ifx>2
then F(x) 1s when 1 <x <2
Options:
| % x-/2

=3

> 2x - Y% x© -1

3 % 2X(2-%)

L 10

Question Number : 13 Question Id : 50131411606 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let X be a continuous random variable with density
flx) =2(x+1)9 if-1<x<2
=0 other wise

Let Y= X’ then the density of Y is

X @969 2.8 @)D D) A5y E HOTrd TE) AP0 (Da0 0
fix)=2(x+1)/9 1f-1<x<2
=0 other wise

Y= X2 GBw¥) ro(¢65 (e300

Options :
z . 1 1.
— 1if0<y<1 and - |1 + —|if I<y<4
i ifo.{}n::;_]_
2 n W

2y + %] if 0<y<4

N 1 15 O
i {:T-::: el S <f_'r-=::.-
Y if 0<y lﬂudg[y—I—ﬁ]ltI}Jr

Question Number : 14 Question Id : 50131411607 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let X be a continuous random variable with density

1 x?

fX—=e 22?2 ; -w<x<w,

OV 2T

Let Y =| X | then the density of Y 1s

X @) 2,8 @D I0) 05D )8 ierTr?d OnE) aro(¢deh (a0

P

Sx)= L e 202 : o< X< oo,

OV 2T

7= X | @BE) 086 1HHOBH S

Options :

Zﬁ'—“’gﬁ

Question Number : 15 Question Id : 50131411608 Question Type : MCQ Option Shuffling

Correct Marks : 1 Wrong Marks : 0

Let X be the number of tails appearing when a fair coin 1s tossed three

times. The mean of the probability distribution of X 1s

2,8 IS TER) e 2 DO I EDOT FEe Hoidd X
9 0%000. X T30E} H0eTdsed HODES TB0E} e

Options :

L x 0.5

:Yes



Question Number : 16 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411609 Question Type : MCQ Option Shuffling : Yes

Let X be a continuous random variable with the density

flx)=

kx%e®: x>0

then the variance of the random variable X 1s

X @96 2.8 @D D)) 05BN )E HOTrE BANE) rOIEES (a0

fx)=

kxZe®: x>0

AP N8 WoTrd X TRE) Dmges

Options :

Question Number : 17 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411610 Question Type : MCQ Option Shuffling : Yes



Two tanks each fired independently at a target. The probability of the first
tank destroying the target 1s p;=0.8 that of the second p,;=0.4. The target 1s
destroyed by a single hit. The probability that it was destroyed by the first
tankis

00 oG érgofen 253583 dsdoldomr a8 o0 Sen)en
2305700, JINCE3 Er£08 OFEA) TPFI0 T N0erdied p1=0.8 Bk &
p2=0.4. 2,%) TS ©F 10 T¥N0 3008, J0e3 &r;08 e o0 40
R[OWTATR NN TO LA S

Options :

. 0480

Question Number : 18 Question Id : 50131411611 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a precision bombing attack there 1s a 50% chance that any one bomb will
strike the target. Two direct hits are required to destroy the target
completely. How many bombs must be dropped to give a 99% chance or
better of completely destroying the target (mimnimum number)

DOIS S 27020 TES AT 2.8 2ron OFEA) BOOT 99540 50%
GON0A. OFEA) JOT 0 BODTENE Both BOT 2rden @.3d80.
O5%R) SJOT 3000 TDANTTRE 99% 95540 BE® DT Qed SRS
D) 2roznen FOTE) (EAD dow?)

Options :

1. % 8

ox 9



10

2. v 1

Question Number : 19 Question Id : 50131411612 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

which among the parameters of Binomuial distribution are correct:
E 5D HONET TBVEY DT 65 DA DTIE:

—2q)*
npq

(a) B1= <

_g-m)%
(b) B1 -n

1-6
() o= P1.3:
npq

(d) Bimodal if: ... P(m-2) < P(m-1) < P(m) > P(m+1) > P(m+2)...
(e) = Ly (factorial moment)
Options:

|« @.(0).(d)

5 % (a). (c). (d). (e)

- (b). (c). (e)

4 % (a). (c). (d). (e)

Question Number : 20 Question Id : 50131411613 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Select the correct statements among the following.

1. If X and Y are two mndependent Binomial variates with parameters
B(n;.p;) and B(ny.p,) then the sum of Binomuial variates is also a
Binomial variate.

2. If X and Y are two independent Poisson variates with parameters
P().1) and B(7.2) then the sum of Poisson variates 1s also a Poisson
variate.

3. Poisson distribution satisfies the property: ' == p3=y2".
4. All cumulants of Poisson distribution are equal.

5. The product of mean, standard deviation, y; and vy, is unity for a
Poisson distribution.

806 8¢ BN DI 0HOD JOVE0A.

1. X SH0C0 Y € Bny.pr) «DOOD Blny.py) DTS DO  zed0|eb
&5 BOTe) @oNd®, LG HOTNO B0 SrE & 108
WOTDO) 22T cIedT 0N,

2.X OGN Y €0 P() 0BG B(la) HTDAHOS BoR & 550(e
TONED VOTPED @OND, aFPONTS WOTO S0B0  Sree
ORI LTI 2T 2300 T G0N0,

3. SPONABM W22 (25(3;&’1}3 © Q) KJOGB@%}J)C&J@O&: "= = = ';fz".
4, FONBD  D2TBRNE A0DOHONND @A) NODTED  NIFIOMT
[ {OLA O VW

5. 25 2PONBR D2 A5 N, 156 DTION0, 11 OO 11 GO
DeEJoD 2.5¢3

Options :

Question Number : 21 Question Id : 50131411614 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

X be a Poisson variate with parameter 7. satisfies:
P(X=2) =9 P(X=4) =90 P(X=6)

then 1ts p1 value 1s

X 2,8 o0 HOTF D TR DTN D0eSda) DTN dabEBEISN
P(X=2) = 9 P(X=4) = 90 P(X=6)

) T Py adeed
Options :

1. % 0

Question Number : 22 Question Id : 50131411615 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

After correcting 50 pages the proof reader finds that there are on the average
of 2 errors per pages. How many pages could one expect with no error

50 EON NBOOS ST sed 5D 080 2,87 288 e 2 Esn en
€960 HBowh. 2.8 £:20 BHOE® V) H2eN 3095

Options :
| v 067

4, %



0.4

Question Number : 23 Question Id : 50131411616 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the probability of success on each trail 1s 0.25, after how many trails can
we expect first success?
D (LANSES DBOHO BwEy H0zTHzed 0.25 oS, ) (LIONTO
ST 565 D0 JES DBOIFR) 8390TIedTNY?

Options :

1.¢ 3

Question Number : 24 Question Id : 50131411617 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The daily consumption of milk in a city i excess of 20000 gallons 1s
approximately distributed as Gamma variate with parameters k=2 and
A=1/10000. The city has a daily stock of 30000 gallons. What 1s the
probability that the stock 1s in sufficient on a particular day?

20000 T:OSOR DoY) IS0 Farard arer HATrH0 k=2 SHB0W
2=1/10000 HT* &3 O I D23 HOTR T HONES AN
SK506S Barard 30000 TN des G0d. AR Ferd 5 ShdoST
&OB D0LTI5e5 )0eh?

Options :

2
| % 25¢

%
5 2e



Question Number : 25 Question Id : 50131411618 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let X be the continuous random variable with density
fx)=4x(9-x%)/81: 0=x<3

then the varianceof X 1s

X @) 2,8 @dDI0), ASrt)R )8 WverTrd T3ng) aro(¢ded (a0
flo)=4x(9-x%)/81: 0=x<3
X BB0E) Deyed

Options:

Question Number : 26 Question Id : 50131411619 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let X be a random variable satisfies the probability distribution:
P[X=0] = 0.1; P[X=1] = 0.3; P[X=2] = 0.5; P[X=3] =0.1.

If Y= X%+2X then the variance of Y is

X @00 2,8 @D )0) OSrdD )8 erTrd ThE) Ao (e oD
P[X=0] =0.1; P[X=1] = 0.3; P[X=2] = 0.5; P[X=3]=0.1.

Y=X242X, Y Gwg) D09

Options:
1 % 6.4

Question Number : 27 Question Id : 50131411620 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the probability of success 1s 1/100. how many trails are necessary i order

that probability of at least one success is greater than ¥2?

DBONO TINE) Hoerssed 1/100 evons, N0 2.8 DacHo TIng)
D02TI5ed Y2 S0T) BT GOTOOT) D) (QOND) @30G0?

Options :

1. % D= 32

5 % n= 58

3 ¢ n= 69

4 % 0799



Question Number : 28 Question Id : 50131411621 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A sample of size n 1s drawn from a population whose mean is 5 and
standard deviationis 1. thenthe P[|x-5|>0.1] =

OEN 5 HBOM 1500000 1 &) BrPer ADOA |0e38T 0070 1
B0 0O, YW P[[F-5]>0.1] <

Options :
1. % 0.001/n

, % 0.001/n’

3 ¢ 10%n

. % 1-10%n

Question Number : 29 Question Id : 50131411622 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If Fx(x ) be the distribution function of a continuous random variable X
then density of Y=X31is

@IV YN), OSrNRE IOTrd X ) 2elas 200050 F(X)m
G600, DY =X ot

Options :




Question Number : 30 Question Id : 50131411623 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If f(x)= % x> e™ then the distribution is

a) Negatively skewed 200637658 eofra)ed
b) Positively skewed ¢mor €88 eamdrade?
c) Mean= variance (e = ed

d) Platy kurtic o°¢3 $05065€5 530

e) Lepto kurtic &7 505065¢3 550

Options :

1. = (@), (c). (d)
5 % (b). d
L. @0

v @) ()

Question Number : 31 Question Id : 50131411624 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Two persons A and B, make an appointment to meet on a certain day at a
certain place between 4 pm to 5 pm at random points of time and agree that
each 1s to wait not more than 15 minutes for other. Assuming that each 1s
independently equally likely to arrive at any time during the hour, find the
probability that they meet.

20 6955060 A B0 B. 2,8 AQa) Faed araHO0 4 00 aroHoLeH0
5H0&® SDEE APGYD)E DDOTFOS 2,8 QR 1HBFOS Fen TSRS
eaPON0ERN0E SNRTLH  HOGW 1D 2880 aBHe o 15
QaNar® E0T) D50k BT GOGETHG @050 M. (D8 2,85
£S50(50TP DSPIOTT HOLE DR IBT 5B.) @ITH0 G0N Eeray,
5 O D055 L0



Options :

L% 410

15/60

15/30

Question Number : 32 Question Id : 50131411625 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The assumption on the data distribution to apply the Sign test is
DO HBE D SO0IBAHEAE HTFOF Darasdd D e
Options :

1. % Normal &rgGed

Non-normal srcede 50

Binomial & 53¢
3.¥

4% Poisson arro23co

Question Number : 33 Question Id : 50131411626 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Mean and Variance of the single parameter Gamma distribution are
D8 DTN TR 02230350 AZ0EY e HBAW D)e)ed
Options :

Mean <3092 > Variance o)a)g)es

S v Mean e = Variance o)a)g)es



- Mean (¢ < Variance a)cdg)es

Mean e and Variance 2,)e3 may be any value

Question Number : 34 Question Id : 50131411627 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statements
1. The ratio of two independent standard normal variates follows
standard Cauchy.
2. The square of standard normal variate follows Gamma distribution
3. The F-distribution 1s m the form of Beta distribution.

4. The ratio of two chi-square variates follows beta distribution.

OB D3O HBoBod

1. DO O50(eh [oPSreds rPErOn Dge )8 [raredd Fa
2900,

2. ([rared8 rprde doTrd QIS QS0 T deracdn o
LN eIV 6T

3. F-509)e3 Dér Deradisin GrHnodS &oenod.

4. B0 3 -5 HOT H © DN DEF DeradSNR 0N,

Options:

% 124

, x 1,34



Question Number : 35 Question Id : 50131411628 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let X be a random variable with E(X)=50 and V(X)=100 then P[X-
50[215]?

X & EX)=50 500w VX)=100 & 2.8 airdydyE ool
G0GAD 0B, @) )¢ then P[|X-50/=15]?

Options :

1@ <409

Question Number : 36 Question Id : 50131411629 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The probability that a person will die by the age 45 within a year 15 0.012.
Then out of the 10 persons at least 9 will reach their 46® birth day
probability is (Assume e'? = 0.8892)

2.8 2358 45 50565070 500N’ (906568150655 SHEEIOT (0areses
0.012. :33¢0 10 H0AES §DH0 9 HOG &0 468 BIOTRE THET
d0arsszed (6912 =0.8892 & 2rD0W0A)

Options :
1. % 0.0935

, o 0.9934

0.9335



Question Number : 37 Question Id : 50131411630 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Mean squared error of an estimator T, of 7(0) 15 expressed as

1(0) T30E) @odwr® Ty GRE OfeD AT Sasn v
5:8500952800
Options:

Bias + Var (T,)

1. %

[ Bias + Var (Ty) I
2. %

- [ Bias® + Var (Ty) ]

} [ Bias® + Var (To) ]
4, #

Question Number : 38 Question Id : 50131411631 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following statement is not correct?

(a) ML estimators are always consistent.

(b)ML estimators are always unbiased.

(c) ML estimators Asymptotically Normal.

(d) ML estimators are more efficient than Moment estimators.

808 83 DO JBIA 5°¢0?

() ML @057 e0 )5 )P VSO Soerow.
(2)) ML @00a" 008 )T Qar )8 o totr .
() ML e20zdaren e0& ¢35 arprdeo.

(&) ML @007 eD 2re8e) e@00wdmr © 0T 0006 H0aNP50850

Options :

;e @

, v ()

Question Number : 39 Question Id : 50131411632 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The relation between the statistic’s t and %2 is

OSSN tDOAM 12 N Hooddo

Options :
y LA
1. ® t]_ J,{ s a0
i)
| Py i |



Question Number : 40 Question Id : 50131411633 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Wilcoxon Signed Rank Test Statistic T™ (in the usual notation) for

testing the location parameter of the population 1s 42 or not for the data 52.
33,59, 38,29,43,3015s

1Desdre 0N 52, 33, 59. 38. 29, 43, 30 5% a3rer GWE) IS
HTER 42 1 o B HOL0NEAE, Derp8)S Hhder Treos HOE
aropsdsn TF (Frerde Hoalsrdoe)

Options :
| % 10
2. % 18
3 16

32
4, %

PART B

Section Id : 501314201
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Maximum Instruction Time : 0

Sub-Section Number :



Sub-Section Id : 501314234
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50131411634 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

. Let 4X — 5Y + 33 = 0 be the regression line of Y on X 1s and 20X - 9Y -
107 =0 be X on Y then the angle between the two regression lines is 6
=tan’!(k) where k=

L AX -5Y+33=0 035 X2 Y 03nE) (e B SHdain 20X -9Y
~107=0 30 Y2 X %0506 08, @00 B0 (e3Hedc B ade;
§000 6 =tan’(k) @5} k=

Options:

0.50

1. %

, » 0512

3 % 0.1414

4w 0.6752

Question Number : 42 Question Id : 50131411635 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let X=4Y + 5 and Y =kX + 4 are the lines of regression of Xon Y and Y
on X respectively and the correlation coefficient between X and Y 1s 0.5
then the means of the random variables are

X =4Y + 5500050 Y=KkX+4 0908 DT X DY S0 Y X
B0 (2 Ten HOAW X HOA Y o205 deT00208 theago
0.5 2008 AirdyR )8 WOTHO N e

Options :
24.00. 8.00

> 28.00, 5.75



4« 28.00.5.00

Question Number : 43 Question Id : 50131411636 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let 392, 376, 401, 367, 389, 362, 409, 415, 358, 375 be the sample of size
10 of shear strength (X) of the test spot drawn from a Normal population
with mean and variance are unknown. The maximum likelihood estimates
of the population average shear strength and standard deviation are

392, 376, 401. 367. 389, 362, 409, 415, 358, 375 93O e Brer
00 HHEN DO VYR OSFRVN oy ) gy 20 | Rl (X)
D0STEa0 10 CINE) 19DE3ETRI0 TF E0CERD 0B, B377er difew §ed 2200
DO [arSTed DTION0 QR (10 N02TI5ed e0TdTreN

Options :

| % 384.4: 18.8672

. 384.4: 19.8752

3. %

390.5; 183752

Question Number : 44 Question Id : 50131411637 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Match the statistic and its standard errors:

(a) Sample standard deviation [2e3&F) (5o (i) 1.36263 o/\n
DD

(b) Sample variance [De38P a)rdg)ed (i) 1.25331 o/vn

(¢) Sample median €857 NEED0 (iii) /o2 /2n

(d) Sample quartiles [)e3¢iTe) HeRPOS0EN (iv) /o4 /4n

(v) 20%/n

(vi) V(Qs-Q1)/2

Options:

1w @-(u): (0)-(v): (e)-(1): (d)-(1)
sy (@-00): (0)-(v): (©)-1): (d)-(i)
5 x  (@-(iD): (b)-(v): (¢)-(1): (d)-(ii)

(a)-(1v): (b)-(v): (¢)-(11): (d)-(2)

Question Number : 45 Question Id : 50131411638 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The properties of sampling distribution are:

(a) Variance of Chi-square 3 -050 a)0pes (1) n

(b) Mean of Chi-square 3 -3¢ (eX (1) 2n

(c) Mean of t-distributiont-=0e3 G0} e (ii1) \2/n

(d) Skewness of chi-squareS -053 eoaradoded (1v) n/n-2

(v) 0

Options:

1w @-(v): (b)-(id): (0)-(i): (d)-(0)



(a)-(i1): (b)-(i): (¢)-(iii): (d)-(iv)
5w @-0V): (0)-@: (0)-(): (d)-(iid)

4 @-=(iD: (0)-(0): (©)-(v): (d)-(i)

Question Number : 46 Question Id : 50131411639 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A random sample of 10 observations; 100, 107, 98, 95, 83, 88, 101, 110,
70. 120 drawn from a normal population with mean 100 and unknown
variance. The test statistic value for testing whether the sample 1s drawn
from that population.

100, 107, 98, 95, 83, 88, 101, 110, 70, 120 &0 H& GPSIDIE (DS
HOFOIEN. P83 Q wrErde Barer oG HfeD 100 SHO0W DY
BO0HH & BNFAR0H. & 2Ty OB (HBEFH SFad08 BE
HO8 0IERNE HBE FrowEE Denss.

Options :
;% 1.58
2.89

5 % 0.88

. v 0.62

Question Number : 47 Question Id : 50131411640 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The ncrease of marks obtained by 12 students in first to second internal
examination are 5. 2. 8. -1. 3. 0. -2. 1. 5. 0. 4 and 6. The test statistic to test
whether there 1s an improvement in internals average score.

3006583 0B B0k R0&ELS HBES 12 Hod dshen Fodd
3r0.0 RGNS 5.2, 8, -1, 3,0, -2, 1, 5. 0, 4 0w 6. R0&E)D
e 66 NS 08 BE D68 08 e arow e S0

Options :
| x 3.52

, o 289

% 138

4% 1.62

Question Number : 48 Question Id : 50131411641 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the sample correlation coefficient of 6235 pairs of observations 15 0.2
then 95% confidence limits for population correlation coefficient is

625 2350 DBETH DO NsTN0D0E MHea%o 0.2 eond, 95%
DB DOMERED & 23T ASTI0D0L HEIso

Options :

25, 0.275
_— (0.125, 0.273)

5 % (0.155. 0.245)

3 % (0.175, 0.225)

(0.100. 0.300)
4, %

Question Number : 49 Question Id : 50131411642 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

In a sample of size 1000. 540 are tea drinkers and the rest are coffee
drinkers. The test statistic for testing whether tea and coffee drinkers are
equally popular

DIBEPD H0570 1000 5, 540 506 63 =N HOOD DAO ST
5 TR, €3 DO 599 BRPOE DIFSOT 23S &0l BE
HO8 08 HOE Frow SN

Options:

2.5
| @ 2532

4 1.545

Question Number : 50 Question Id : 50131411643 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following the non-parametric test statistic with its Means in
case of two sample problem

(a) Sign test (1) ny/2
D HOF.
(b) Mann-Whitney U-test (1) n/2
DI-De3) Ow-985
(c) Wald-Wolfowitz run test (i11) (ny+n5) /2
TD-3 VD HSHhe 8%
(d) Median test (1v) [2nmo/(ny+no) +1
S HOF
(v) nny/2

Options :

(a)-(i1). (b)-(v). (¢)-(111). (d)-(1)



L @-(). (0)-(i). (0)-(iv). (d)-(i)

(a)-(i1). (b)-(v). (c)-(1v), (d)-(1)
3. ¢

4w @-0). (0)-(v). (o)-(iid). (d)-(i)

Question Number : 51 Question Id : 50131411644 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following related to the non-parametric test statistic with its
Variances (let N=n;+n,)

(a)Sign test (1) nny/4(N-1) where N is
He HBE even

(b)Mann-Whitney U-test (11) nny+{no(ny+1)/2]
-3 ow-58%,

(c) Wald-Wolfowitz run test (111) nimp(N+1)/12
TS )NE Hhe HB%

(d)Median test (iv) [2n1m(2nm-N)/(N*(N-1)]
D5 HOY

(v) n/4
Options :

1. % (a)-(v). (b)-(111). (c)-(1). (d)-(1v)
5 » @-(). (0)-(id). (c)-(iv). (d)-()
. (a)-(1). (b)-(ii). (¢)-(iii). (d)-(i)

3.

4w @), ()=, (©)-(id). (@)-(iv)

Question Number : 52 Question Id : 50131411645 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let f(x.6) =exp { A(x) + B(6) + C(x) D(6) } be an exponential family
distribution then the sufficient statistic for estimating the parameter 6 1s in
f(x.0)=exp { A(x) +B(8) + C(x) D(B) } 2 2,8 2°e08 50002
Q2T TP E0END S04, €610 B JT°WEBR) @O 0LV
500 PO S 0

Options:

A(x)

1. %

2. % BO

. D(#g)

Question Number : 53 Question Id : 50131411646 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following with appropriate

(a) Nyman'’s factorization theorem | (1) Consistent
DT SEEF0ZINE V0SB0 VB

(b) Neyman Pearsons lemma (11)  Efficient
Nl DONG YD) Bedo D0 FS50e5 0

(c¢) Cramer Rao mequality (111) Sufficient e5Acd0e3
5%00- T%) e90)edried

(d) Chebyshev’s inequality (iv) Best critical region
D)0 TBE) DTS &9 SN Erosso

(v) Minimum variance bound
50 D@ 9556

Options :

| w @) (0)-(v): (0)-G1): (d)-()

S o @) (0)-(): (©)-@): (d)-(i)



(a)-(111): (b)-(1v): (c)-(v): (d)-(1)
3. ¢

L (a)-(1i1): (b)-(1v): (c)-(i1); (d)-(1)

Question Number : 54 Question Id : 50131411647 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In three attributes total number of conditions to be checked for consistency

of data are

&

S8 D850 S STOFSN TRy NGB0 FH0 S TADSONN
S0B0 AGeRe) Do
Options :

l":r

1.v¥ -

2. % 14

Question Number : 55 Question Id : 50131411648 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following related to the sufficient statistic

(a) Yules coefficient . P
alrd ) heaso 1 724N
(b)Coefficient of Mean Square

(AB)(af)—(AB)(aB)
(AB)(af)+(AF)(aB)

Contingency (11)

Qifew 58 es8208 theago
(c) Coefficient of Colligation ... [(A8)(aB)]?

SOTAS (Dea%0 ( ”[M}
(d)Criteria for independence

P EE50(€9o300 TR0 [DITETEN

1t
3 | (48)(eB) |,
W [ «./(Aiiaﬁi}}l’ [1+
Options :

e @e(); (0)-Gi): (©)-Gi): (d)-(iv)

(1v)(AB)= (A)(B)/N

(48)(eB) l
(4B)(2))

2.¥ (a)-(11): (b)-(1): (c)-(V): (d)-(1v)
L o @1 ©)-(i): (0)-(idd): (d)-()

4 % (a)-(1v): (b)-(v): (c)-(11): (d)-(1)

Question Number : 56 Question Id : 50131411649 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the sample size n 15 large (>30). then Fisher’s approximation for testing

the hypothesis that the population variance is 6’=a¢” is
DBEFD DOIPE0 1 DO oS (> 30), @Y )H BT DY 67=6¢

@® 00503090 HO8 058 HAB By, & 0N
Options :

- (x* — n)/og’

2. %



\/;,{_2— n—1
JoF =i
3.¥

L V22— V2n—1

Question Number : 57 Question Id : 50131411650 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let p be the probability that a coin will fall head in a single toss m order

to test Ho: p= %2 vs Hy: p=% . The coin 1s fossed 5 times and Hy is rejected
if more than 3 heads are obtained. The probability for type-I error 1s
Hy: p= % vs Hy: p= % J08009@R8 2.3 erRES &0 éo JBFad
DT p @) ©NF0R. TEH0 5 D DROBCH2CEA0A HBOKW 3
50T) 080303 eheen ©2) R Hy @8:300520e000. TR-1 &0 T30E),
VO FARNTAC)

Options:

" 3/16

81/128

L 477128

L % 487128

Question Number : 58 Question Id : 50131411651 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Among the following statement identify the wrong statement

(a) Mode of F-distribution is na(n;-2)/ni(ny+2).
(b) Mode of F-distribution 1s always greater than unity.
(¢) The median of F-distribution 1s 1 when n;=n; and 15 at F=1

(d) The probability density of F increases steadily at first until it reaches

its peak and then decreases slowly so as to become tangential at F=a=.

806 N D0EOS 85)) D0 (©) HOos0d

(a) F-a)arescied 200850 na(ni-2)/mi(ny+2).

(2)) F-erad50a500 0518 055 50T 80,5 G0N0
(R0) n1=n; SHO0D F=1 5¢ &) F-Dzrescdan Snedswo 1

(d) F D308 D02edsed aroleded o (10a) 008 TR oS855 S0
QBT DEDHE0EA OO F=0. 38 eP0BANST SrEERS
RO SHe0d.

Options:
N ONCY
)« 1).00.@

s ©@

4 v @. (). (©). (@

Question Number : 59 Question Id : 50131411652 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let x1. x2, ... Xy be a random sample drawn from population with density
function f{x.6) then the sufficient statistic for estimating 6 are given below.
Match the followings

XL X2, ... Yo ©RO W06 (HDDODSN SES0 fx.0) H0B BT
OST9RIE [DBETDSD T GOBAN 08, &3 0 A ©@oser FoHERNE
Shed D0gTE8a0 e (80 B6d s am. 808 aredd) A0srFe 0&

(a) flx.8)=(1+6) x% 0<x<l (1) b

() fx8)=e¢"06%x=012, ... () Yok

(€) fx0)="Cx0*(1-0)*%.%x=0,1,2,... | (i) X
11

1[x

3 A n 2
(d) ﬂx.ﬁzF%e_[ﬁ] S s (v)  Xip %

¥ 2
v) i, x;

Options :

(a)-(ii) (b)-(1): (c)-(iii): (d)-(iv)

1. %

§ (a)-(1) (b)-(1): (¢)-(111): (d)-(v)
2.

(a)-(1) (b)-(iv): (c)-(i1): (d)-(v)

(a)-(1) (b)-(111): ()-(11): (d)-(1v)
4.

Question Number : 60 Question Id : 50131411653 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let (A)=490. (AB)=294. (0.)=570. (aB)=380 then the two attributes A and
B are

(A)=490. (AB)=294. (a)=570. (aB)=380 e:))¢% A HBa5 B e9% Bochy
OS5

Options :

Positively associated
G ed 550 @a 2050 DE00

Negatively associated
200£7°¢5 285001 @920 0VDR0H

Independent

3 v VSBOS

Data 1s inconsistent
ESTPOF5D eSO &0

Question Number : 61 Question Id : 50131411654 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let 2.7. 0.9, 0.2 0.52 and 4.3 be a random sample of size five drawn from
an exponential distribution with unknown parameter 6. Then the maximum
likelthood estimator of 6 1s

2.7.0.9,0.20.52 0050 4.3 HO5TEI0 00T (16 O5PEIID S (DB ETS0
&) SPEP0E QBB 0B BOGHA HTWRS BOHAANE . )
5 3W3E), (B3 D02TIfes 0TI

Options :

w0116



1.724

4o 058

Question Number : 62 Question Id : 50131411655 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let 10.5, 12.1. 13.0. 14.0.13.9. 11.0. 18.0, 20.0. 15.0, 17.1 be the random
sample of size 10 drawn from a normal population with unknown
parameters |t and ¢°. The 95% confidence interval when the critical value
152.26 1s
Options :
(11.6562. 15.7848)

1. %

(11.6562. 16.6748)

(12.2462. 16.6738)
3.¥

4% (12.5462.17.6748)

Question Number : 63 Question Id : 50131411656 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let Xi. Xy and X3 are any three tri-variate normal distribution random
variables with correlation coefficients between the variables 1s ;= 0.86.
113= 0.65 and ry3= 0.72 then the partial correlation 1123 1s

Options :
1 % 0.5274

0.392

3.¢



0.743

0.468

Question Number : 64 Question Id : 50131411657 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let X and Y are bivariate distributed random variables with joint
probability function f{x.y) = (x+2y)/18. x=1.2; y=1.2 then E(XY) 15

Options :
1« 45/18

48/18

2. %

28/18

51/18

Question Number : 65 Question Id : 50131411658 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Suppose that there 1s ring with 4 keys and we are trying to find the key that
opens a particular lock 1s opened. Since there are only four keys, maximum
four attempts are needed. The probability the four attempts are needed to
open the lock 1s

Options:

N
1.4 L



4 % 0.80

Question Number : 66 Question Id : 50131411659 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The jomnt density fimction of a two-dimensional random variable (X, Y) is
(X.Y) @) B0 Ardyw )8 KoTrdHe aro(ddes:
fxyy=2 Hl<x<l0<y=<x
=0 otherwise
Then the conditional density of Y given X, 0<x<1 1s

Y/X Adene aro|tded 0<x<1
Options :

1/(1-y)

1. %

Question Number : 67 Question Id : 50131411660 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Let (X, Y) be a two-dimensional random variable with the density
X.Y) e 8ocd Airdy)E Hdovrde) aro|fded:

f(x.y) =4xy. exp {-(+y9)}: x,y = 0.
If u =V(x>+y?) then the density of ‘u’ is

u =V +y?) 0 u By, o6

Options:

u?exp{-u?}

2ud exp{-u?}
. Pi-uy

3u’exp{-3u?}

2 aeny S22
4x U exp{-3u-}

Question Number : 68 Question Id : 50131411661 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the correct statements from the following:

(a) Except first cumulant all Cumulants are independent of change of
origin.
(b) Cumulants are not mmvariant of change of scale.

(c) The ™ cumulant of the sum of the independent random variables is
equal to the sum of the 1™ cumulants of the individual variables.

808 are3 DO BN 8o MHbodod:

() TWEE3 DOV s Q) FFNIBOEIED N0 TTNE) S
N0G A 550|SOMT GOETFON.

(2)) RO 53050 50530 5B0ETeN 5305

(R0) D 550165 AP )8 FOAHD) Fwedo AEY,  Hozsn B0
255511e5 F00H20S ) TN 1P Eo2M B 0T FNTAE Hadrdo.

Options :

(a). (b)
L« ©.
L ©@

(a). (b). ()

4.+

Question Number : 69 Question Id : 50131411662 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the not correct statements from the following on the properties of
characteristic function:

er8 638 (a0 AEY 82 50 @3, 808 73 oG AT T
e Hlotod:

() 9x(t) = 0x(-t) = 0_(t). and [9x(t) | < §x(0).
(b) dx(t) 1s always continuous and is convex for t > 0.
(¢) Ifu=(X-a) / h then du(t)= @ dx(t/h).

(d) Characteristic function uniquely determines the distribution. e»$ 3%
12930000 [DBLEOT D23 Il AToNNOH

Options :

Question Number : 70 Question Id : 50131411663 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let X be a Uniform random variable over the range [0. 1] then P[ | X —
T £
0.5|< \E] =
Options :

v 092



Question Number : 71 Question Id : 50131411664 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following:

(a) The mean and variance of a Binonual distribution are 3 and 4

(b) The mean and variance of Negative Binomial distribution are 6 and 4.
(c) The mean and variance of Geometric distribution are 8 and 12.

(d) The Poisson distribution is a positively skewed distribution.

808 a°¢3 00G DB VoD HBOoOA:
() O 5235 a)aT2305e300 O30E AT oHOAD yes 3 OOk 4
(©) [HREFS B HODET TI0EY SHEN B IV 6 HOT 4.

(20) Daiie3ed(Geometric) Q2Te3c0030 GRVE) AMEN HBASD D)ged §
0O 12.

(B) PONBD DaT23de RO AFDNEPOOMT SHSEB0DN HOVES.

Options:
L w @)

L w ).

_ (c). (d)

. (a). (d)

Question Number : 72 Question Id : 50131411665 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Consistency of an estimator can be checked using

0T L) VEB50 O SHTR0D D TODHSTD)

Options :
Mean

_— cafien

Mean Square
. Q0§E0 o38a50

Variance

50 D00

Mean Deviation

4% PG DTISR0

Question Number : 73 Question Id : 50131411666 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The trend equation of a time series 1s Y= 60+1.5 X. If the trend origin is
shifted back to five years, then the trend equation is

o (365 B (DOG dandBe0 Y= 60+1.5 X. (B0& £Lrerd) 2
D055 107050 @6 3370 )L 0N B, BOE HEde0

Options:

1« 325+15X

L« 60+15X
55+ 15X
3.
55+1.0X

4. %



Question Number : 74 Question Id : 50131411667 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Real wage index can be deflated by formulae
aR43 336505 ATPDER AP P00 65001t )

Options :
(average wage / price index number) x 100.

- (11E) BBH0 / S HrDE SowE) x 100

(Index of money wage / price index number) x 100.

« (€520 D50 T0E) ATrDE / ¢ drDE dow ) x 100
2. ¥

(Average wage / quantity index number) x 100.
- (D19E20 JHBS0 / DBITEA0 D8 dowE) x 100

(Index of money wage / quantity index number) x 100.
(C5200) Deded0 AWEY A / D050 SrdE Hos) x 100
4. %

Question Number : 75 Question Id : 50131411668 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The size of the sample depends on
09380 005N | D) erdaad 0enod

(a) Level of confidence / desired degree of precision Z

(3) DF°LD0 T 0N / BV Jebed 0 ALY TV B Z

(b) Standard deviation of the population
(b) 2352 G308 (Bed WIONO0

(c) Difference between population mean and sample mean

(€) 20727 AN DO RAIPR® AN DG § o3 L0

(d) Population proportion Pu
(d) B°2” ) Pa

Options :

- (a) (b)
S (b). (c). (d)

(a) (b). (c)

3.¢

s @®).0.@

Question Number : 76 Question Id : 50131411669 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an assumption underlying the use of the #-
distributions?
806 83 -2 IS0 DITBFTRE e90SDI0MP &) €8T E?

Options :



The variance of the population 1s known.

| x B e BENNOE

The samples are drawn from a normally distributed population.

(DB ETDEN €0 PO DerBdinBTeer oG BNERE oM
2. ¥

s (sample standard deviation) is an unbiased estimate of the

population variance.

S (103Gl 15D DLION0) 9TV B> e %) Var)s!
3. ® @O0V

Median and mean deviation of the population are known
4 % o0EIEN DOOID e DI BOVIY)EW

Question Number : 77 Question Id : 50131411670 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let 20 be the size of sample and each sample observations indicated with
one of two types symbols A and B. If the symbols are equal in number. the
maximum possible number of runs 1s

IDBEPY HDOSTE0 20 TP HO) 196 EF0) HOIOION A 00 B e
B0 8570 DFLOS DE 2.5TRE Jrdotdatseran. D) en Hoen
DSPAOTT 0B, (HOROT DI 200D§ DHE) Do

Options :

—
)

1. %

. 20



Question Number : 78 Question Id : 50131411671 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Central Statistical Organization was established in

300 o8 S0P (CSO) & FDHOHDA O DOsses IBS0

Options :
1950

1. %

, o 1951

5 % 1948

4 1964

Question Number : 79 Question Id : 50131411672 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In India, the method used to collect the agricultural yield is

2PESTIOS . 555 0D AMHDAQ DEBOVETVE &IHBTFA0D H

Options:

Crop cutting technique
1.4

- Traditional method

Random sample method

Stratified sampling method

Question Number : 80 Question Id : 50131411673 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The discrepancies between sample estimate and population parameter 1s
termed as

128870 0TI OO BEPET DTN DG S iEare (discrepancies)
a0 @0ErPMN

Options :

Human error
1. %

Formulae error
Non-sampling error

4 Sampling erro1

Question Number : 81 Question Id : 50131411674 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The critical difference between the two treatment means (1. j)

Options:

i f 1 1
tu_k. SE TN + TEn
M njf

2. /2MSE/n

1.4

Ty Hj

- et A
\[SE [2?‘1!' + Eﬂj—|



Question Number : 82 Question Id : 50131411675 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Consider a Randomized block design with 6 treatments and 3 blocks with
one observation is missing such that the corresponding known treatment
and block totals are 54.5 and 222.5 with sum of known observations 1s
727.9 then estimated missing value 1s

6 D85 IOS 3 OIS O 2,8 HBFO S & 2.8 0SB D)8 DO
5505 & HOKHEIoN0B. D000 BOVY HBFOSO DY HOOK
DOGBIN © TEPE 54.5 HOOK 222.5 BOV HOFOSS Bnedo 727.9
200D ) IFOND VNS TP @03 3ADDR0H.

Options :

, x 2573

Question Number : 83 Question Id : 50131411676 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The relative efficiency of a Latin square design of order 5 over a completely

randomized design when the mean squares of rows. columns and error are
31.23.109.44 and 18.15 1s

SEED, DeNaY SEIEN SO0 ER50E HfEw SSS50 en 31.23, 109.44

200050 18.15 @I N0arg ATFLHD )8 Gda 2 &dd 5 Gns)
73 38 GTied CINE) RS rNt0

Options:
17.50

1. %

, x 1475



3 @ 11.75

, x 1025

Question Number : 84 Question Id : 50131411677 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Consider a Latin Square Design with ‘k’ treatments with missing value.
The standard error of the difference of the treatment means having the
nussing value any other treatment mean 1s

2.5 0D DenIE ErAS k' DEBIO((E32067) & ere3S 3¢ STIde
HOHF0N0A. ErSreds N0 0T BT ABG DESY e Desd
€528 00 SDOAD DT WSS DEeb Y OTTNEY 35EP:d0

]

Options:

N 7

58
(k—1)(k—2)

J252/k

1.

3. %

Sl
4,

Question Number : 85 Question Id : 50131411678 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the wrong statements on the number of strata
AT eTre Q0D 5a))) (51 HOoo&

(a) Lesser the number of strata. better it 1s
1GFETe) oW 80T GO, @ HODA
(b) More the number of strata. poorer it 1s

1T DOWE DBV, DA

(c) More the number of strata. better it 1is
e SO0 DBVLIT GO, @B HODA

(d)Not more than ten i1tems should be there in a stratum
2.8 [T ODS HO E0T) B0 @07 e S0BERED
Options :

. @)
, » (@.(b).(d)
3 % (c)

(d)

4. %

Question Number : 86 Question Id : 50131411679 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let Vi, Vprop and Ve be the variances of the usual estimators under
Sample random sampling. proportional allocation and optimum allocation
for a given sample size . If Ny 15 large then

Options :
Vian € Vprop £ V
| x T prop opt



-K"Tmi T\"Tprgp = R’r(}pt

Question Number : 87 Question Id : 50131411680 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let a population consisting of N units, 1s divided into ‘k’ strata such that
N=Ef;’:1ﬁ.fj. A sample of ‘n;" units are drawn from N; units under

proportional allocation such that n =Z}L 1 ;. Then

N crded $rdd amerd. N=Ri N, oF dgomr k' (arerm

NFBOVAN 0B, N =X 7_; n; ©9D0Pe TePa00a) §0 Nj Arde) cHod

‘D’ OO ST BENEDER0E). €95 )¢

Options :

| % nj=N/n
n;= N/ N;j

5o i
n;/Nj=n/N

3.¢

11j><Nj = N=xn

Question Number : 88 Question Id : 50131411681 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Let Yy be the sample mean of the systematic sample of size n then the

variance of the systematic sample mean, V(J;,,;) 1s

Vsys 070 N T8y (S0P (HBERD T30y, ST fETT
50800 S0, &2 (80D a0 i AEY 358500, V(Fsys)

Options :



kin—1)

2
N SWSF
1. %
N_]. 2 ﬂ',-_l 2
N S - i Sws-}:l
2. %
(N_“:' SZ
3. N
N S —= " Swsy
4. &

Question Number : 89 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411682 Question Type : MCQ Option Shuffling : Yes

The sample size of the j® stratum n;. for fixed n. under optimum allocation

15

D 1§00, ©8)©AA0H Teronox) 80 B | 1 1DBEPD HDOSrR0,

Options :
;TWJ-.‘{}-
E 'ZIWJSJ
1.¢ 7
TJSJ
E_j:l ‘._j'
2. %
-2
!"!Wj.‘ﬁj
k .2
3. %
.3
2j=1 WS
4, %

Question Number : 90 Question Id

: 50131411683 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
Fertility rate depends on

DHOTES'eh 183 Bew 2 &ENG G0N0

Options :
| % Total female population

, Total population

3 % Number of newly born babies

Female population of child bearing age
4.9

Question Number : 91 Question Id : 50131411684 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The time reversal test satisfies the condition
50 DT DOE DOVBR 059NN 0E
Options :
| Po1x P1o=1

, » PorxPr=0

3 % Po1/ Pig=1

Po1+ Pip=1

4, %

Question Number : 92 Question Id : 50131411685 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In famuily budget method the cost-of-living index number 1s

50002 2FE DS 28556 55505 ATDE Do



Options :

Pij

Poj

LpojWj
2. % 2Wj

Riw; N
2R p: =P %100
3 Ew_j Poj

L Dojw;j
ZWj

Question Number : 93 Question Id : 50131411686 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Yic1 P1idai : : '
=12 X 100 is an index number formula is
Yi=1Poiq1i

n ¥ - . v natl
w X 100 is @& D SO
Ei-:ipm'fi‘ii

Options :
Laspevre’s
Paasche’s

2.9

Dorbish-Bowley

Fishers
4. %

Question Number : 94 Question Id : 50131411687 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The prices of a commodity in the year 1975 and 1980 were 25 and 30
respectively. Taking 1980 as the base year the price relative 1s

1975 5805 1980 50565300265 2,8 580 5656 5B 25 SHBA 30
&) 00. 1980 Q R R0HOT B:H0T) 98 A8 0T G0N0

Options :
11325

1. %

. 83.33

109.78

93.8

Question Number : 95 Question Id : 50131411688 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Net monthly salary of an employee was Rs. 3000 m 1980. The consumer
price mdex number 1 1985 is 250 with 1980 as base year. If he has to be

rightly compensated, then the Dearness Allowance to be paid to the
employee is

2.8 GOH g, G Todd Bdo &r. 1980 S 3000. 1985 &
AATHTHO S8 ArdE dow: 250 & ren 1980 & esgrd
06565 50 DFL0E. @58 HBH HB5FE0 BOOVNOD SN, &E:AS
3907010 B0HOTR ©OTS)

Options :

.« Rs.4.200

Rs. 4.500
2. ¥

5 % Rs.4.900

4 % Rs.7.500



Question Number : 96 Question Id : 50131411689 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Per capita National Income means 508 2305 &30P0H0 @0

Options:
| @ Net National Income / population

Total Capital / Population

. population / Net National product
3.

Population X Net National product
4. %

Question Number : 97 Question Id : 50131411690 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Increase 1n sales of garments during a festival 1s associated with

DOV OSSO ST VBTN DEHE0 AAS SNENG G0LN0D

Options:

secular Trend

| x Q5§00 (Bok

Seasonal variation

SPePAMED Ba)GIS0
2. ¢

Cyclic Variation

80D FAES0

Irregular variation

B Gored S50
4. %



Question Number : 98 Question Id : 50131411691 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Randomization 1s a process which enables the experimenter to
OSTPI9DIES RE 1DOIFMTEHEER D200 T o [DEaDH
Options :

Treatment errors are independent.
D8y G0N M 2500 E0LTFON

Estimate the experimental error.
ITTres 8 S 0T I0HoB

Treatments are allocated to the experimental units with equal probability
D3PS Dozrsdsedd |DTresE crdddd  D8esyen
SETPON OV BT ON

All options are correct
4.+

Question Number : 99 Question Id : 50131411692 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of replications r =
|0e8EFarred HOPET =
Options :

Zto:jﬁz.-"r(lz
1.4

V2. tos%/d?

Tuz ‘32:"‘d2
3. %



4w 2tas/d

Question Number : 100 Question Id : 50131411693 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the annual number of live births 1s 977 and average female population of
15-49 years age 1s 29860 and number of female live births 1s 474 and Total
Fertility Rate 1s 1070.75 then General Fertility Rate and Gross
Reproduction Rates are

22 2o 0% doms 977 SO e f’@ ey 15-49 Sodedore
SOHY 29860 HOOK R D2 BITO SoW 474 HOOH S0
DoTPS 5 Ten 1070.75 ©0ond Frde O0TRS %) TN SHBAM
PO e nes e Tew

Options :
(33.73%. 519.48)

1.4

. (45.75%, 452.76)
2.

(38.52%, 214.15)
3. %

(42.57%., 347.78)
4, %





